Home Learning M TH week 13

This is where this weeks videos

Summer Term - Week 10 (w/c 29th June) _
will be

MOﬂdOY - Week 10 |€SSOH 1 Summer Term - Week 9 (w/c 22nd June) +

Tuesday - Week 10 lesson 2

Summer Term - Week 8 (w/c 15th June) +

Wednesday - Week 10 lesson 3

Thursday - Week 10 lesson 4

Friday - Catch up day

You will need to use this
link to access the videos

‘ https://whiterosemaths.com/homelearning/year-6/




Home Learning M TH week 12

This week, you will not be able to access the

worksheets online.
I have included them as a PDF file and are

accessible through the school website.

link to access the videos

You will need to use this ‘ https://whiterosemaths.com/homelearning/year-6/




Answers - Monday

Introducing the ratio symbaol

ﬂ The ratios skeowe shoaded ports oo non-shoaded | parts.
Mlatch the rotios, statemsents and Boar rmodels.
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Dard oS sorme counters, cubes amnd maoarbles.

Complete the sentemces. @ .
The ratio of counters to markles is - . @ @
The ratio of marbdes o oubes is El: @ @

The ratio of cubes o counters is: . '@
The ratio of counters o oubes is: @ .

The ratio of counters o oubes 1o markles 'El ] I_I = || -{-| |

Erett hos drosen sone triangkes and Soqueaores

The ratio of wriongles 1o squares is 13
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al are thers more riaongles or mone Soquores? RN,

Explaim howse wpou e
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bl Brett has drowerns rmone thamn 10 shapes.
Diranes wofeol Brett rmight Feowe dnosser.
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ﬂ Here are somse rulers and some pendls. o The ratio of horses to chickens in a field s 2:5 @

. l Here are the horses. Draswe the chickens.

al What is the ratio of pencils to rubers? EI: 8 $ 8 ‘

b)) Here are some mare rubers and pencils.

o Shode squares so that the ratio of shoded 1o non-shoded squares
is 1:4
= .

II"! ratio ':‘.r plIII:IJE G A boex contains d-:lrk.. white and milk chocolates.
: o rulers is the

Sl'_'l.r'l'l.vl‘.' as im part al % of the box are dark chocobates.

¢

e — e i- of the box are milk chooolates.

Ron is wrong b“ﬂ'ﬁ\ The rest are white chocolates.
there are mare pendcils

and more rulérf}f_{;v What does eoch ratio represent
o
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Calculating ratio e Tom has S green cubes for every 3 yellow cubes.
He has 16 cubes in total.

Draow a diagram to represent this,

° Eva is baking cakes and cookies.

For every T cake, she will bake 2 cookies.

a) If Eva bakes 3 cokes, how many cookies will she bake?

° Esther is building a tower of cubes_ Q

THe ratio of red 1o yellow cubes is 3:1

b) If Eva bokes 10 cookies, how many cakes will she boke? The tower has 6 yellow cubes. How many red cubes are there?

s

o Nijah plays 21 games of chess. Q

e The ratio of red to yellow counters is 2:3 For every 2 gomes she wing she loses 5 gomes.

There are 20 ¢ ars in torol. How many more games does she lose than win?

How many counters of eadch colour are there?

You can colour the counters to help you.
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al Huon is making a drink by mixing 1 part juice with 5 ﬁ A grodp of students study French or Gerrman in the ratio 3:7
Eearts weober.

Wihick bpect the meost stud u?ﬁrmuﬂ
Complete the vable to shover the amounts he would need to use. = s as Hhe =

bl Drow a diagram o represent this

\N@

Jubce Water .9
I—[ I— 1 r‘r'
1 litre 5 litres I [_l i | _[Q
Frenoi G ream
2 litres 0 lkres
£} There are 80 students in total_
2 Niores 2o it Heoww many moarne students study German thon French?
100 mi SO0 mi
200 il | Ty —
“ Describe a sitwation for eoch bor model. Vouriown omSwer s
200 ml I 5 lkres
' ===
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o Lkees 30 litres blue [T
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b)) Hueon makes 1 litre S0 ml of drink in tobal

Howw much juice and water does he need 1o wusa?

Compare answers with a partner.
Wheat i the sarme and wiheot B different?

jusice | IS0 wearter | |, 2500 mil




Wednesday

hot=rad

scale factors

ﬂ a) Explain wwhat it means for a shape to be enlarged by a scale
foctor of 2

Bl sy Pra Sdidg L!H:ah g fem cm ﬂ..l':lldlr_'ﬁ

ﬁ al Here is a rectangle.

I b)) Endorge the shapes by o scabe foctar of 2

A\

Drraws anather rectangle wihere each side iz twic= as big.

A\

bB) Here is o squore. —

Drroaws another sgquarne winere eodh side iz 4 times s bigo

\

ﬂ Complete the sentence.
& skheope in wwhich eoch side Feas tripled i size hos been enlarged by

a scale factor of

B Yahine Foss Rothe 3018




n Here i o rectondgle ﬂ The shape has bBeen enlarged by a scabe factor of 1%

Fill im thee dirmensions of the news shope.

a)l Measure the side lengths of the rectangle and babel themrm on o
the diicgram.
15 am
b} Enbarge the rectaongle by a scale factor of 3 and label the
side lengths.
.~ "y
-
8 crm
B —
IS |om
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10 crm

Triangke & hos been enlaorged by o scale factor of 5 o make g
triangle B.

Fimd the perimeter of each triomgle.

15 ks
T,
- - iﬁm
14 krm 75 krm

G The sides of the rectongle are increased by a scale foctor of 2

Wit i the perimeter of the new shape? TSk

1 em

[ —
I em

perimeter of & =| Lkl perimeter of B = 230 kyy
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Ratio and proportion problems

o Whitney bwys 6 cans of lemonade for £3

a) Hewer mvuch do 12 cons oost?

b)) Hesar much da 3 cans cast? E S0

el Hamer mvuch do 15 caons oost? E3} -50

o The ratio of red to green gropes in a bowl is 3:1

a) Explain whsar this means.

F e

b} There are 12 more red gropes Uhan green gropes.
What is the taetal nurmber of grapes im the Bowel?

Armir B rmaking some dhooaslate chip biscuits,

He hoas this =t of ingredients to make 6 bisowins.

L=}

—
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120 g butter

72 g sugar

180 g plain flaur
B0 g chocolate chips

o+

Howw mch of esach ingredient does aomir need to make
Z biscuits?

e [0 ] s nour [ 50
L TeT a chooolate ohips g

Howw mwch of esach ingredient does Aomir need to make

10 biscuits?

wrier[ 355 |
SHEg O a chocolate ohips g

Armir has 240 g of chocoblate chips.

Wihat is the maxirnurm Aumber of Biscuins e omn make?
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ﬂ Dexter has sarme 20p and S0p coins inoa jor. @ o Dong dioes o Similar rectongbes.

For every three 20p coins he hos one Shp coin.

NO

My Larger recrangle is
4 rimes the size of the
srmaller ore.

The perimeter af the
larger rectangle is 48 cm

There are 12 coins in the jor in total_

Howe muwch meoney is in the jar?

The length and width of both rectangles are even numbers.

Wihat = the borgest possible area for the amall rectangle?

£330
G &, drink is made wsing 3 parts arange juice to 2 parts lemomnade. Q‘
Estheer makes 1.2 litres of this drindk.
Hows rmwch aorange juice does she mneed? E,
cm?

o Ajsha has tveo boxes of Sweets. @

F20 |mi & In the first box, the ratio of red swests 1o green Sweets g 3:1

& In the second box, for esvery 2 orange sweeis there are
3 wpelloww sweens

& Theere is the same number of swweeis in eadh box.

ﬂ Tweo shops sell the some cereal but in different-sized boses.

A = & There are 12 gellow sweets in the second bosx.
500 g of cornflakes 750 g of cornflakes Howw manu sweets are in the first box?
E2 10 £33 B
Which shop s better value for money? Shaop A

Explain sy @.



